OUTDOOR FURNITURE

Product name: Bench around the tree
Catalogue number: 14153
Dimensions: 219x219 cm

Total height: 77 cm

Seat height: 43 cm

219 cm

v

A

219 cm

Side and top view in scale 1:50



PRODUCT DATA

Product name: Bench around the tree
Catalogue No.: 14153

Product type: Outdoor furniture
Critical Falling Height: cm
Dimensions: 219x21 m
Safety Zone: cm
Age Level: years

Product Photo/Picture

AREA DATA
Placing:

Address:

Zip code/city:
Place:

Playground name:
Product number:

SURFACE
Material:
Dimensions:
Underground:
Supplier:

Buying date:
Installation:
Guarantee:

Product logbook

COMPANY DATA
Name:

Address:

Zip code/city:

Place:

Phone:

Fax:

Email:

OWNERS DATA

Name:
Contact:

Address:

Zip code/city:

Place:

Phone:

Fax:

Email:

ADMINISTRATOR DATA
Name:

Contact:

Address:

Zip code/city:

Phone:

Fax:

Email:




Product main dimensions

OUTDOOR FURNITURE

//

60

[cm]



7 s
| /
N 7 ’

N | s

N | /
|
N 7 s
|

AN | /
AN ﬂ %

NS

‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘ N
\\

/
0

s

\\
N,
ST
3|uyo.d oy [oH e

a|1J0.d

|
|
|
vﬂ
|
|
|
|
|
|

)
Niiy,

"MOJ2F pPaMOYs suoisuawwip 03 buipiodoe sbaj ybis 10) Junolb ayjy sajoy el 1 dais

o

E€STHPT TIVANVIN NGLLVTIVLISNI

[4 € 7 v S 9



10109UU0d POOM 1

| —awoud

1ess

a|yoid

(s1)D

110J09UU0D poom ui djiyoid
ybnoJya ssjoy [P pue s|ijold usamiaq 1ess 1Sy eld € dols

X8 JUSEM 8IAl INU JISA0D
G9X8IW 3|0q Udj|e doy punoy

10]03uUuU0)

10302UU0)

"oe|s awos buines| sba| [993s 03 $10309UU0D ||BISU] ¢ dois

[a)

E€STHPT TIVANVIAN NGILVTIVLSNI

T [4 €

=

v S 9



9]J0.d

10]092UU0D POOAA

|

J
I)_' ]
F—
|
I
)
A\
]

|

I
M -
F
V
[]
‘%/‘V
1

*9pIS pa||upaJd woly Jels 10302uu0d
pOOM - 9j1j0id - 10303uu0d poom ybnodyy sajoy |juqg =G daas

(s:1)3

(s1)a

*Je9S pPu0das 3de|d

' doas

ESTHPT TVANVIN NGILVTIVLISNI

T 4 € 14




=t
o~
(3]
]
<
(Te]
el

™

PX8 19ysem

[l ] [e]
14 - ww
,: 7

T l -
s e \/[7/e XA ﬁﬂlr f7s \TIN7 6 N,

OPTX8IW 309

W

0bX9 peay JejnNdJRIWSS YIM M3IDS POOA

e
5!

X8 I9ySsep)

speg

H D

: I .

——

H

"M3JDS pue s9|1joid usamiaq Moeq ade|d :/ dais 1339607 1235 OM] 108UL0) (9 da1S

ESTPT TVANVIN NGLLVTIVLSNI

T C € 7 I S 9




4 € 14 S 9

0SEQ@ B2 0799 eo

009

00t UlIN

S
~
Q<
009

00t Ul

Q
N (0Z/912) 0zd uonepunoy 92DU0Y ————— ﬂw

00C Ul

[10S

2oepns bulAeld

™~ S11404d \

'suolepunoy 31qissod JO dU0 3s( SIN0Y gz wnwiuiw bulAip 10) 93240U0D SARD|
pue sJasn paziioyineun jsuiebe sajoy 1093104d ‘83910u00 ay3 Jnod ‘punolb syl ul youaq Ind 6 dois

*$10]09UU0D [93]S UybI| "Aem awes ay) Ul Syoeq pue s1eas Jayio [jeasur :g deis

E€STHPT TVANVIN NGILVTTVLSNI

[4 € 7 13 S 9



[ T

Article Ground level plate, Product Plate
Made by Caroline W.
Date 28.08.2013 Modified 16.12.2014




B B1 B2 B3 B4

FA4x35
FA4,8x35
F8x90
F8x120 F10x120

(@)

<amm(® O

F6x50
F6x70

=) >
<amme—) =
g
g [

E E1 E2 E3 E4 E5 F F1 F2 F3 F4 F5 F6 F7 F8 G G1 G2 G3 G4
g SRgxzs g g
SR4x30 SR4,5x30 B6x30
SR6x40 M10x40
SROx50 M10x60 Pox%0 B10x60
X B8X65 X
SR6x70 M8x70 VEX30 B8X75
M10x90
M8x120 Mexi15" % 0
M12x140
I 11 R1 R2 H1 H2 P P1 N T
i’ I 1 / /
L Sleeve
S4,5x13 ‘ g
S3,5x16 R3.2x12 | S| 25 Threaded rod Ir}]rﬁztaded rod ’c;l(?rglélgtzor
R5x18 Sl 6x3
SI 8x80
J1 J2 J3 K N1 N2 N3 N4 M L1 L2 L3
o9 ¢ QOO@O) Q D
R22 R&o ox18 T~
8x24  10%20 19x24 1538 D (O
Pre drill before screw. .
Hole in wood for screw: one size smaller than screw.
Hole in wood for bolt: one size bigger than bolt.
Hole in plastic: the same size as SCrew.
Saw if necessary. % Hit with a hammer.

il / .
= Cut if necessary.
?( Impregnate surface. o/

o Add glue.
W Concreted. 0 g

Grind surface before install.




	Strona 1
	Strona 2
	Strona 3
	Strona 4
	Strona 5
	Strona 6
	Strona 7
	Strona 8

